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BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME - LEVEL 3
FINAL EXAMINATION — 2014

MICRO ECONOMICS - MCU1205

DURATION: THREE (03) HOURS

DATE: 05.07.2014 TIME: 9.30am - 12.30 pm

Instructions:
Answer Part A (40 marks) and any three questions from part B. (20 marks)

PART A

01. Do you “agree” or “disagree” with the following statements? Explain your answer
using illustrations where possible.
i. As more of a good is produced, the opportunity cost of producing that good
tends to increase, because resources less suitable to produce that good must
be employed to produce the given good.

ii. Other things being equal, the more capital goods a country produces today.
the greater will be the economic growth of that country in the future.

iii. The rationing function of prices is the elimination of surpluses and shortages
in a market.

iv. If two goods are complementary, a decrease in the price of one will cause the
demand for the other to decline.

V. An increase in the price of a good will reduce the demand for its substitutes.

vi. When a tax is imposed on the supply of a good that has Perfectly Elastic
Supply, the entire tax amount has to be borne by the supplier.

vil. The value of the Price Elasticity of Demand for a product is given as -0.68.

To increase the revenue earned from that product, the price of that product
has to be reduced.

viii. = The value of Income Elasticity of Demand for furniture is given as 2. This
means variations in income levels of people will have a more than
proportionate impact on the demand for furniture.

ix. The .value of Cross Price Elasticity between bread & butter is positive(+) and
bread and margarine is negative(-).
X. The higher is the cost of production, the higher is the value of Price Elasticity

of Supply of that product. -

(10 x 4 marks = 40)

PART B
02. a. Providing examples, differentiate the following.
i.  Fixed Inputs and Variable Inputs.
il. Short Run and Long Run Production Function. (06 marks)
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Consider the following given Short Run Production Function.
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Fill in the table and identify the stages of production. Using illustrations
explain your answers.

What stage should the rational entrepreneur select? Provide reasons for your
answer.

Explain the relationship between Average Production and Marginal Product
of Labour. . (14 marks)

Do you “agree” or “disagree” with the following statements. Explain your
answer using illustrations where possible. ‘
As the output increases Average Fixed Cost (AFC) also increases.
The lowest Point of Average Total Cost Curve (ATC) is to the right of the
lowest point of Average Variable Cost Curve. (AVC).
In the Long Run,Average Cost of a firm declines due to diseconomies of
scale. (12 Marks)

Consider the Short Run Cost Function of a firm given below.
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Fill in the table.

04. a.

(08 Marks)

Demand and Supply Equations of a Perfectly Competitive Industry are given
below.

Qq = 640 — 20p Qs =

Price in the Rs. and quantity in 1000 units

—160 + 30p

lo
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i. Find the Market Equilibrium Price and Quantity.

ii. At what Price should a firm operate’in this market sell its product?

iii. What will be the Average and Marginal Revenues of this firm?

iv. Suppose, the firm sets the price at Rs.20/= what will be the market
outcome? Explain using illustrations. (10 Marks)

Using illustrations answer the following questions.

1. What is the Short run Supply Curve of a Perfectly Competitive Firm?
ii. How efficient is the Long Run Equilibrium of a Perfectly Competitive
Industry? (10 Marks)
Using illustrations answer the following questions.
i What is a Natural Monopoly?
ii. What is the relationship between the Elasticity along the Demand
Curve of a Monopolist and its Total and Marginal Revenues?
iii. Can a Monopolist incur losses in the short run?
(10 Marks)
i What is Price Discrimination? Explain using examples.
ii. Differentiate between 2™ degree and 3 degree price discrimination.
Use illustrations to explain your answer. (10 Marks)

Answer the following questions using iliustrations.

i. What is the nature of the Demand Curve faced by a Monopolistically
Competitive firm, compared to the Demand Curve faced by a
Monopolist and Perfectly Competitive firm?

il. Can the firms operate in Monopolistically Competitive industry make
economic profit in the long run? (10 marks)

Firms operate in Oligopolistic Markets can use both pricing methods and non
price methods to compete in the market”

i. - What is Price Leadership model? Explain

ii. How does the Kinked Demand Curve Model explain the behavior of
Oligopolistic Firms?

iii. ~ What are the non Price Methods available for these firms to compete in
the market? (10 Marks)
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